Name: Date:

Teacher: Class:

Multiplication/Division 306

Why did the elephant stand on the marshmallow? So he
wouldn't fall into the hot chocolate.

Multiplication and Division

L 12x4= 18 2x4= B9 x4 =
2. 8=4= 19. 24 = 4 = 36. 44 =
3. 1x4= 20. 3 x4 = 37. 8 x4 =
4 A8+ 4 = 21. 16+ 4 = 8. 28+4=
> 11x4-= 2. 7x4= 39. § x4 =
6 40+4= 2344 + 4 = 40. 20+ 4=
. 10x4 = 4. 6x4= 4. A x 4 =
8 36+4= 25 32+4= 42. 12+ 4=
9. Ox4-= 6. 1 x4= BT x4=
10. 28+ 4 = 27. 40 = 4 = 4. 8 = 4 =
11. 12 x4 = 28. A x 4= 4. 9 x4 =
12 4+4= 29. 24+ 4= 46. 36 + 4 =
13. 3x4= 30. 2 x4 = 47. 5 x 4 =
14. 32+ 4= 3. 8+4= 48. A4 = 4 =
15. 7 x4 = 2. 11 x4-= 49 12 x4 =
16. 28 + 4 = 3B 36+4= 0. 16 +4 =
17 9x 4 = 4. 10x 4 =
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Answer Key Date:

Teacher: Class:

Multiplication/Division 306

Why did the elephant stand on the marshmallow? So he
wouldn't fall into the hot chocolate.

Multiplication and Division

L 12x4 =48 18. 2x4=28 3. 9x4 =36
2. 8+4=2 190 24+4=6 ¥ 4+4=1
3 1x4=4 0. 3x4=12 3. 8x4=32
4 48+4 =12 21 16+4=4 B 28+4=7
> 11x4=44 22. 7x4=28 ¥ 5 x4=20
6 40+4=10 3. 44 +-4=11 4. 20+4=5
7 10x4 =40 4. 6x4=24 4 4x4=16
8 36+4=09 5. 32+4=28 42.12+4=3
°. 9x4=136 6. 1x4=4 . 7x4=28
10. 28+4=7 2l 40+4=10 “ 8+4=2
1. 12 x4 = 48 8. 4x4=16 4% 9x4=36
12 424=1 29. 24+4=6 6. 36+4=09
13. 3x4=12 0. 2x4=28 47 5 x4 =20
14. 32 4=8 3. 8+-4=2 8. 44 +4 =11
15. 7 x4 = 28 2. 11x4=44 49 12 x4 = 48
6. 98 =4 =7 38..36+4=9 0. 16+4=4
17. 9 x 4 = 36 ¥ 10x4 =40
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